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1. (a) b(i) In a goods market equilibrium in closed economy, S + TA — TR =1 + G,
use this equation to show that a fiscal expansion will lead to an incomplete
crowding out effect. ’ 2.5
(i) Show using AD-AS and IS-LM curves why money is neutral 1n the classical
* Supply case. 5
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(b) Using wage setting and price setting relations, determine the equilibrium real wage
rate. Explain how these curves are affected by egch of the following :  4.5+3
()  An increase in price of oil
(if) An increase in mérk up.
) How does a fiscal contraction (reduction in budget deficit) affect pricg output and -
interest rate, both in short run and medium tun in AD-AS model ? 7.5
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(@) What do you mean by natural rate of unemployment ? Derive Modified Phillip's

Curve. 2+5.5

(b) ““‘Wage Indexation ircreases the effect of unemployment on inflation.” Explain this

statement. 7.5

(¢) Explain Lucas ‘Credibility’ theory. In this context discuss Fisher's theory of nominal

wage rigidity. 7.5
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Explain the following statement :

In Okun's law, an output growth rate of 1% above normal output growth rate
leads to only a 0.4% reduction in unemployment rate and a 0.4% reduction
in the rate of unemployment leads to only a 0.6% increase in employment
rate. . | ' 2.5+2
Suppose the Philip's curve is givén by :m,—n; =0.1-2u,

where 77 =7,

Suppose that inflation in year -1 is zero. In year ¢ the authorities decide to

keep the unemployment rate at 4% forever. Compute the rate of inflation for

year 1, t + 1, t + 2. 3
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Define Adaptive Expectation Hypothesis. How does this theoery allow us to

relate expected, unobservable variables to actual observable variables ? 4.5

Discuss any two sources of Lucas's theory of Business Cycle. 3

(c) Discuss the policy ineffectiveness proposition which asserts that "any predictable part

of money supply will have no effect on output, employment and other real variables

while only unpredictable money supply changes can affect output". 7.5
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Discuss the effectiveness of monetary policy in a fixed and flexible exchange rate
regime in the presence of perfect capital mobility and fixed prices. 7.5
(i) How can the automatic adjustment mechanism restore both internal and external
balance if the economy is initially in less than full employment equilibrium and

is having a current account deficit ?
(i) Explain the 'J' curve. | 4.5+3
Explain why, following a monetary expansion, exchange rate always overshoots its

new long run equilibrium value. 7.5
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Distinguish between the following exchange rate system :

Adjustable Pegs, Crawling Pegs and Managed Floating. : 7.5
How does domestic money supply vis-a-vis foreign money supply determine the
exchange rate in 'Monetary Approach to Exchange rate Determination' ? 7.5
Discuss using suitable example, how do foreign exchange risks provide an opportunity

of hedging and speculation in foreign exchange market. 1.5
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